This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 8 - Colinton-Fairmilehead

6,223

2

2,075

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Bonnie Prince BOB	•		30
Mev BROWN	Independent		23
Mairianna CLYDE	Scottish National Party (SNP)		840
Neil CUTHBERT	Scottish Conservative and Unionist		2,027
David HENRY	Independent		38
Nick HORNIG	Independent		13
Grant LIDSTER	Reform UK		345
Richard Crewe LUCAS	Scottish Family Party		65
Daniel Aleksanteri MILLIGAN	Scottish Greens		426
Mark NEY-PARTY	Independent		5
Peter Alexander NICHOLSON	Scottish Liberal Democrats		1,009
Conor SAVAGE	Scottish Labour Party		1,146
Marc WILKINSON	Independent		256
		Total	6,223

This report contains the transfers results.

Stage 2 - Exclusion of Mark NEY-PARTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bonnie Prince BOB	2	1.00000	2.00000
Transfer to Nick HORNIG	2	1.00000	2.00000
Transfer to Conor SAVAGE	1	1.00000	1.00000
Not transferred due to rounding			0.00000
	Total		5.00000

This report contains the transfers results.

Stage 3 - Exclusion of Nick HORNIG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mev BROWN		2 1.00000	2.00000
Transfer to Neil CUTHBERT		1.00000	1.00000
Transfer to David HENRY		5 1.00000	5.00000
Transfer to Richard Crewe LUCAS		3 1.00000	3.00000
Transfer to Conor SAVAGE		1.00000	1.00000
Transfer to Marc WILKINSON		2 1.00000	2.00000
No further preference		1.00000	1.00000
Not transferred due to rounding			0.00000
	Total		15.00000

This report contains the transfers results.

Stage 4 - Exclusion of Mev BROWN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mairianna CLYDE	3	1.00000	3.00000
Transfer to Neil CUTHBERT	2	1.00000	2.00000
Transfer to David HENRY	11	1.00000	11.00000
Transfer to Grant LIDSTER	2	1.00000	2.00000
Transfer to Richard Crewe LUCAS	1	1.00000	1.00000
Transfer to Conor SAVAGE	1	1.00000	1.00000
Transfer to Marc WILKINSON	2	1.00000	2.00000
No further preference	3	1.00000	3.00000
Not transferred due to rounding			0.00000
	Total		25.00000

This report contains the transfers results.

Stage 5 - Exclusion of Bonnie Prince BOB

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil CUTHBERT	4	1.00000	4.00000
Transfer to David HENRY	7	1.00000	7.00000
Transfer to Grant LIDSTER	1	1.00000	1.00000
Transfer to Richard Crewe LUCAS	1	1.00000	1.00000
Transfer to Daniel Aleksanteri MILLIGAN	6	1.00000	6.00000
Transfer to Peter Alexander NICHOLSON	3	1.00000	3.00000
Transfer to Conor SAVAGE	3	1.00000	3.00000
Transfer to Marc WILKINSON	4	1.00000	4.00000
No further preference	3	1.00000	3.00000
Not transferred due to rounding			0.00000
	Total		32.00000

This report contains the transfers results.

Stage 6 - Exclusion of David HENRY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mairianna CLYDE	5	1.00000	5.00000
Transfer to Neil CUTHBERT	5	1.00000	5.00000
Transfer to Grant LIDSTER	6	1.00000	6.00000
Transfer to Daniel Aleksanteri MILLIGAN	4	1.00000	4.00000
Transfer to Peter Alexander NICHOLSON	3	1.00000	3.00000
Transfer to Conor SAVAGE	7	1.00000	7.00000
Transfer to Marc WILKINSON	14	1.00000	14.00000
No further preference	17	1.00000	17.00000
Not transferred due to rounding			0.00000
	Total		61.00000

This report contains the transfers results.

Stage 7 - Exclusion of Richard Crewe LUCAS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mairianna CLYDE	1	1.00000	1.00000
Transfer to Neil CUTHBERT	11	1.00000	11.00000
Transfer to Grant LIDSTER	10	1.00000	10.00000
Transfer to Daniel Aleksanteri MILLIGAN	8	1.00000	8.00000
Transfer to Peter Alexander NICHOLSON	8	1.00000	8.00000
Transfer to Conor SAVAGE	7	1.00000	7.00000
Transfer to Marc WILKINSON	10	1.00000	10.00000
No further preference	15	1.00000	15.00000
Not transferred due to rounding			0.00000
	Total		70.00000

This report contains the transfers results.

Stage 8 - Exclusion of Marc WILKINSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mairianna CLYDE	21	1.00000	21.00000
Transfer to Neil CUTHBERT	50	1.00000	50.00000
Transfer to Grant LIDSTER	20	1.00000	20.00000
Transfer to Daniel Aleksanteri MILLIGAN	16	1.00000	16.00000
Transfer to Peter Alexander NICHOLSON	36	1.00000	36.00000
Transfer to Conor SAVAGE	25	1.00000	25.00000
No further preference	120	1.00000	120.00000
Not transferred due to rounding			0.00000
	Total		288.00000

This report contains the transfers results.

Stage 9 - Surplus of Neil CUTHBERT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Grant LIDSTER	328	0.01190	3.90320
Transfer to Peter Alexander NICHOLSON	468	0.01190	5.56920
Transfer to Conor SAVAGE	233	0.01190	2.77270
No further preference Not transferred due to rounding	986	0.01190	11.73340 0.01000
	Total		25.00000

This report contains the transfers results.

Stage 10 - Exclusion of Grant LIDSTER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mairianna CLYDE	22	1.00000	22.00000
Transfer to Daniel Aleksanteri MILLIGAN	7	1.00000	7.00000
Transfer to Peter Alexander NICHOLSON	38	1.00000	38.00000
Transfer to Conor SAVAGE	15	1.00000	15.00000
Transfer to Mairianna CLYDE	2	0.01190	0.02380
Transfer to Daniel Aleksanteri MILLIGAN	5	0.01190	0.05950
Transfer to Peter Alexander NICHOLSON	44	0.01190	0.52360
Transfer to Conor SAVAGE	24	0.01190	0.28560
No further preference	302	1.00000	302.00000
No further preference	253	0.01190	3.01070
Not transferred due to rounding			0.00000
	Total		387.90320

This report contains the transfers results.

Stage 11 - Exclusion of Daniel Aleksanteri MILLIGAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mairianna CLYDE	140	1.00000	140.00000
Transfer to Peter Alexander NICHOLSON	84	1.00000	84.00000
Transfer to Conor SAVAGE	133	1.00000	133.00000
Transfer to Mairianna CLYDE	2	0.01190	0.02380
Transfer to Peter Alexander NICHOLSON	7	0.01190	0.08330
Transfer to Conor SAVAGE	8	0.01190	0.09520
No further preference	110	1.00000	110.00000
No further preference	28	0.01190	0.33320
Not transferred due to rounding			0.00000
	Total		467.53550

This report contains the transfers results.

Stage 12 - Exclusion of Mairianna CLYDE

1,032.58310

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter Alexander NICHOLSON	193	1.00000	193.00000
Transfer to Conor SAVAGE	273	1.00000	273.00000
Transfer to Peter Alexander NICHOLSON	8	0.01190	0.09520
Transfer to Conor SAVAGE	13	0.01190	0.15470
No further preference	566	1.00000	566.00000
No further preference	28	0.01190	0.33320
Not transferred due to rounding			0.00000
	Total		1,032.58310

This report contains the transfers results.

Stage 13 - Exclusion of Peter Alexander NICHOLSON

1,380.27130

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Conor SAVAGE	575	1.00000	575.00000
Transfer to Conor SAVAGE	146	0.01190	1.73740
No further preference	799	1.00000	799.00000
No further preference	381	0.01190	4.53390
Not transferred due to rounding			0.00000
	Total		1,380.27130